This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 3 - Clydesdale East

5,431

3

1,358

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alex ALLISON	Scottish Conservative and Unionist	1,927
Bev GAULD	Independent	469
Mark GORDON	Scottish Liberal Democrats	144
George HANNAH	Labour and Co-operative Party	592
Eric HOLFORD	Scottish Conservative and Unionist	526
Ian MCALLAN	Scottish National Party (SNP)	1,393
Andrew Jackson MCCALLUM	Independent	112
Janet MOXLEY	Scottish Green Party	268
	Total	5,431

Candidate Alex ALLISON Elected with 1,927 votes, being in excess of the quota of 1,358 Candidate Ian MCALLAN Elected with 1,393 votes, being in excess of the quota of 1,358

This report contains the transfers results.

Stage 2 - Surplus of Alex ALLISON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ALLISON	0	0.00000	0.00000
Transfer to Bev GAULD	132	0.29527	38.97564
Transfer to Mark GORDON	56	0.29527	16.53512
Transfer to George HANNAH	57	0.29527	16.83039
Transfer to Eric HOLFORD	1,466	0.29527	432.86582
Transfer to Ian MCALLAN	0	0.00000	0.00000
Transfer to Andrew Jackson MCCALLUM	31	0.29527	9.15337
Transfer to Janet MOXLEY	31	0.29527	9.15337
Value of non-transferable ballot papers			45.48629
	Total		569.00000

This report contains the transfers results.

Stage 3 - Surplus of Ian MCALLAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ALLISON	0	0.00000	0.00000
Transfer to Bev GAULD	148	0.02512	3.71776
Transfer to Mark GORDON	61	0.02512	1.53232
Transfer to George HANNAH	163	0.02512	4.09456
Transfer to Eric HOLFORD	27	0.02512	0.67824
Transfer to Ian MCALLAN	0	0.00000	0.00000
Transfer to Andrew Jackson MCCALLUM	89	0.02512	2.23568
Transfer to Janet MOXLEY	623	0.02512	15.64976
Value of non-transferable ballot papers			7.09168
	Total		35.00000

This report contains the transfers results.

Stage 4 - Exclusion of Andrew Jackson MCCALLUM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ALLISON	0	0.00000	0.00000
Transfer to Bev GAULD	25	1.00000	25.00000
Transfer to Bev GAULD	16	0.02512	0.40192
Transfer to Bev GAULD	8	0.29527	2.36216
Transfer to Mark GORDON	6	0.02512	0.15072
Transfer to Mark GORDON	8	1.00000	8.00000
Transfer to George HANNAH	20	1.00000	20.00000
Transfer to George HANNAH	6	0.02512	0.15072
Transfer to George HANNAH	3	0.29527	0.88581
Transfer to Eric HOLFORD	9	0.29527	2.65743
Transfer to Eric HOLFORD	2	0.02512	0.05024
Transfer to Eric HOLFORD	5	1.00000	5.00000
Transfer to Ian MCALLAN	0	0.00000	0.00000
Transfer to Janet MOXLEY	30	1.00000	30.00000
Transfer to Janet MOXLEY	31	0.02512	0.77872
Transfer to Janet MOXLEY	2	0.29527	0.59054
Value of non-transferable ballot papers			27.36079
	Total		123.38905

This report contains the transfers results.

Stage 5 - Exclusion of Mark GORDON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ALLISON	0	0.00000	0.00000
Transfer to Bev GAULD	20	1.00000	20.00000
Transfer to Bev GAULD	8	0.02512	0.20096
Transfer to Bev GAULD	4	0.29527	1.18108
Transfer to George HANNAH	39	1.00000	39.00000
Transfer to George HANNAH	14	0.29527	4.13378
Transfer to George HANNAH	18	0.02512	0.45216
Transfer to Eric HOLFORD	2	0.02512	0.05024
Transfer to Eric HOLFORD	17	0.29527	5.01959
Transfer to Eric HOLFORD	20	1.00000	20.00000
Transfer to Ian MCALLAN	0	0.00000	0.00000
Transfer to Andrew Jackson MCCALLUM	0	0.00000	0.00000
Transfer to Janet MOXLEY	49	1.00000	49.00000
Transfer to Janet MOXLEY	7	0.29527	2.06689
Transfer to Janet MOXLEY	22	0.02512	0.55264
Value of non-transferable ballot papers			28.56082
	Total		170.21816

This report contains the transfers results.

Stage 6 - Exclusion of Janet MOXLEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ALLISON	0	0.00000	0.00000
Transfer to Bev GAULD	168	0.02512	4.22016
Transfer to Bev GAULD	7	0.29527	2.06689
Transfer to Bev GAULD	50	1.00000	50.00000
Transfer to Mark GORDON	0	0.00000	0.00000
Transfer to George HANNAH	119	1.00000	119.00000
Transfer to George HANNAH	2	0.29527	0.59054
Transfer to George HANNAH	181	0.02512	4.54672
Transfer to Eric HOLFORD	8	0.02512	0.20096
Transfer to Eric HOLFORD	12	0.29527	3.54324
Transfer to Eric HOLFORD	25	1.00000	25.00000
Transfer to Ian MCALLAN	0	0.00000	0.00000
Transfer to Andrew Jackson MCCALLUM	0	0.00000	0.00000
Value of non-transferable ballot papers			166.62341
	Total		375.79192

This report contains the transfers results.

Stage 7 - Exclusion of Bev GAULD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ALLISON	0	0.00000	0.00000
Transfer to Mark GORDON	0	0.00000	0.00000
Transfer to George HANNAH	172	1.00000	172.00000
Transfer to George HANNAH	150	0.02512	3.76800
Transfer to George HANNAH	22	0.29527	6.49594
Transfer to Eric HOLFORD	64	0.29527	18.89728
Transfer to Eric HOLFORD	10	0.02512	0.25120
Transfer to Eric HOLFORD	96	1.00000	96.00000
Transfer to Ian MCALLAN	0	0.00000	0.00000
Transfer to Andrew Jackson MCCALLUM	0	0.00000	0.00000
Transfer to Janet MOXLEY	0	0.00000	0.00000
Value of non-transferable ballot papers			319.71415
	Total		617.12657

This report contains the transfers results.

Stage 8 - Exclusion of George HANNAH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Alex ALLISON	0	0.00000	0.00000
Transfer to Bev GAULD	0	0.00000	0.00000
Transfer to Mark GORDON	0	0.00000	0.00000
Transfer to Eric HOLFORD	231	0.02512	5.80272
Transfer to Eric HOLFORD	56	0.29527	16.53512
Transfer to Eric HOLFORD	228	1.00000	228.00000
Transfer to Ian MCALLAN	0	0.00000	0.00000
Transfer to Andrew Jackson MCCALLUM	0	0.00000	0.00000
Transfer to Janet MOXLEY	0	0.00000	0.00000
Value of non-transferable ballot papers			733.61078
	Total		983.94862